LEVEL 4 — ALGEBRA
Q1. Simplify these expressions:
@ -51 x3p x(—é.—xpz)
(©) —6b+(-2a)~(-85)
© 63x'y’ + {“—7 xyz) x 4x*y?

(g) 7x +3X2;g2 ~10x=+5
1) 18m? — 1002 xdm 80 + mn

3xy X (—3x2y5 ) X 2:9:4

4
® 352 % 2x* X (3}

(2. Expand and simplify:
(a) 5 +3)-3(x+6)
(©) 5x(x?+ 3x3 —5x)
(©) 1593 +2y%) - (% —¥%)
(g) 3x(2x +3y) + 5x(x —y)
(L 3a(52—-28)—b(a + 6b)

3. Factorise:

Q4. Simplify the following:

(2) (b)

+ T Gx+2)cm

®) (— 553535)2 '3

@ Sazéx(—éasb?) 2022
) 9%y +3xx 2}72 X dx>
) 8x* x (H 4-;9) 6y

- 6a% x2ap* x(-34%)
@ :

4a’ % 28° % 8ab
3 % (—?;xsy) x5

® (— 6%3) X (2’x)2

(b) 7(5x+6)—5(6x+9)

(@) 3a(@®—3a) + 6(a3 + a2
(® Sab(4a?b + 3ab? — 2ba?)
(h) 5ab@a + b2) + Th(a? - 35)

()" 15 + 5x — 3542 (b) 6-3y2+ 15y« (©) 3b+5b2~ab
(d) 942 —3ab + 124 (e) 8a3+ 1804 + 445 (f) 4abc + 2ab + 16alc
(8) 6y + 32y + 126292 (h) o282 + 2b — ab? (i) 12mn + 4mp — 6mnp

a—-5 4-+a . x+4 8+x Stm  6+m
@ ® == © =t
b—3 b+9 x+1 x-3 5+2m 3m-1
4y 22 77 A
@ ==+ © 5 O =+
. 2x+1 3x+5  BSx—-2 5+4x . ox+5 4x+8
® 4 6 - ® 3 g W 5 7
Q5. Expand and simpﬁfy the following: ) - :
(a) (6x + 5)(7 —3x) (B) (9+5x)8x+3) o) (12x+53x-7)
(d) Gx+3)Bx+2) (&) 3(2x—-52x +4) ' ) 2(5-Tx)2
(&) Cx—92x+9) () 5(6 - 4x)(6 + 4x) @ Qx+ 12— (2x—1)2

(6. Find a simple expression for the area of cach figure below:

. {©)

2x+ 3ycem : |
g [N~

Gx+ &) cem ' dx+23em
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QL (a) 60x*p*

() —36x1° y5

@) 187* —40m®n® * )

Q2. (@) 2x-3
(d) 94°--3a?

@ T by

Q3. (@) 53 +x-7+Y)
(D 3eBa-b+4)
(8) 32+ x+ 4xy)

" Ta+1

Q4.
& @ 3
25+ 27m
® 20

Q5. (@ 27x—182+35
| (@ 124+ 17x+6

(g) 4> 381

Q6. (@) A=8l2+36x+4

@ 2,432313

® —25¢°87 ©) 2h-2a
(8) 5x+6x°

5-}?1 o

e 9z

) 5x-3

@ 45y P 3

) 174% +5a9°

(®) 32—+ 5y

&) 2a°@4 + 9a + 249

) (@b +a—b)
(o 53+10m

- 2 A 1

R 2700
() - oy

(6) 4022 + 87 +27 -

©) 12x*= 63— 60
() 180 - 802

() A=44x2+52¢

@ —15a°5°
16
) —=%
o 3y,
@ -

{©) 32+ 15 -25¢
SD_ 18488 + 27470°
@) 154 =7ab - 65*

- (&) B@ +38—-a)
) 2a(2bc.+ b + 8ac)
@) 2m(6n + 2p 3np)

9%+33 - x-+13
d
(@ 0 (e) 2
.. 66x+83
@ :

.42 .
{e) 36x*-69¢~—35
. ‘(‘t) 98+ - 140x + 50
") 8
() A=47+ 14+ 6( Y




